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1 I =2f"(2) =1, then Lilnzw, is
a) 4 b) 0 c) 2 d) oo
5 e pa |
" xom/4 x%-m?/16 uals
8 2 2 1
a) 2f(2) b)2£(2) 021 (3) d) 4f(2)
3. Iff(a) =2, f'(a) =1,9(a) =3,g'(a) = —1, then chl_r)rcll f(a)g(xi:g(x)g(a) is equal to
a) 6 b) 1 0) -1 d)-5
2y5x43\" . |
4. Iff(x) = (’;2:;:2) then ;1_{210 f(x) is equal to
a) e* b) e3 c) e? d) 24
. _1 _
5. }ci_r}% 5;113 Co’; xx is equal to
a)1/2 b)1/3 ) 1/6 d)1/12

. . 1/x 1 sinx) .
6. Forx >0, }Cl_r)l’(l) ((sm X))+ (x) is

a) 0 b) -1 01 d)2

x+1

7. Thevalue of lim (%)T is equal to

X— 00

a)e /3 b) e~2/3 c)e ! d) e ?

L1 qf 2x .
8. lim=sin 1( 2) is equal to
x>0 X 1+x

a) -2 b) 0 c) 2 d) oo

2sin?3x

9. lim is equal to
x—0

a)o b) 1 c) 18 d) 36

. a¥+a™*-2.
10. lim ———isequal to
x—0 x

a) (loga)? b)loga c)0 d) None of these

1, when x is rational
11. Let f(x) = {0, when x irrational’

a)o b) 1 c)

then lim f(x) is
x—0

d) None of these
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12. Forx € R lim (x—é) is equal to

X— 00

a)e b) e 1 c)e”® d) e’

13. The value of 911_{210 X COS (ﬁ) sin (%), is

a) z b) = 1 d) None of these
2 4

14. The derivative of function f(x) istan* x. If f(x) = 0, then lirré %is equal to
X—
a)l b) 0 c)-1 d) None of these

(1/2){g(x) + (x)}sin(x),x = 1
sinx/x, x<1

15. Let f(x) = {

1, ifx>0
Where g(x) = {—1, if x < OThen, lim f(x) is equal to
. x—-1
0, if x=0
a)o b) 2 c)sinl d) None of these
. 3+1

16. If lim |55 — (ax +b)| = 2, then

a)a=1landb =1 b)a=1landb=—-1 <ca=1andb=-2 d)a=1landb=2
17. If f:R = R is defined by

x—2
—ifxeR—-{1,2
f(x)= x2—3x+21x { }
2, if x=1
1, if x=2
Then lim [/ is equal to
x—2 x—2
a) 0 b) -1 c) 1 d) _%
. , . 7 1 * fo(x)zt:“dt

18. Let f: R — R be a differentiable function such that f(3) =3, f'(3) = > Then, the value of }Clr% y w
is

a) 25 b) 26 c) 27 d) None of these
19. Let f(a) = g(a) = k and their nth derivatives f"(a), g™ (a) exist and are not equal for somen.
Further if
lim [@9®-f@-g@ix)+g@ _ 4, then the value of k is equal to
x-a gx)=f(x)

a) 4 b) 2 c)1 d)o

. sinx .

20. The value of }CI_I)T(IJ N

a)l b) -1 c)o d) None of these




